Question Paper Preview

Question Paper Name: Ceramic Technology
Subject Name: Ceramic Teclnology
[Iathenatics
Number of Questions: 50
Display Number Panel: Yes
Group All Questions: NoO

Question Number : 1 Question Id : 6780944204 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the traces of A and B8 are 20 and -8 then the trace of (A+E ]} s

Options :
L 12
« =12
. 28

28
4.

Question Number : 2 Question Id : 6780944205 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

w1

If 4= o s an Invoiutory matrix then x=

Options :
1 L
-
X —~1
d, -

Question Number : 3 Question Id : 6780944206 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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I
e
b

loge loge™  loge

L

The determinant of |loge® loze loge’ |is

3 .
loxe”  loge

Options :

i

tloge

L

Slog s

Question Number : 4 Question Id : 6780944207 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

L L i
T3=-2 1 3| then det(adidi=
i_li} | 2_
Options :
1 det 4
et 4"
=l
.
[dat 4}
- |

Question Number : 5 Question Id : 6780944208 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f A. B are two matrices and AB=B. BA=A then 4~ + B~ =

Options :
1 A+E
 A-B
; AB

; U

Question Number : 6 Question Id : 6780944209 Display Question Number : Yes Single Line Question (dntion : Nn Ontion

Orientation : Vertical
]
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’ Aav+ 2 A Sy+C tham £ ¢
= | . A= -8 =
(v + 1) vt dy x4+l 2yt -

Options :
&
1.
L2
2 3
P

Question Number : 7 Question Id : 6780944210 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

l -y then o i =
(v—alx—D0) x—od v =h |

If

Options :
-,
=2
R |
12
3.

I_l.

Question Number : § Question Id : 6780944211 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of ranf357 =

Options :

!

1
=

¢

| 2

—]

I

E

Question Number : 9 Question Id : 6780944212 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

7l | . %
IT taner = i tan [ = then tanie + &) =
i+ 1 i+

Options :

&
@collegedunlas
India’s largest Student Review Platform

i



1.
I
|
.

4

Question Number : 10 Question Id : 6780944213 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of 6xin 70 —S<in” 20" =

Options :
1. 2
i
3 \E
J3
3,
]
5
4.

Question Number : 11 Question Id : 6780944214 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f 2o+ JeosB =5 then the value of 4siné —3cos8 =

Options :

O
-1

L

oy

Question Number : 12 Question Id : 6780944215 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sine function with peried 3 Is

Options :
2T
SIE]

| 1
T
SR
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Question Number : 13 Question Id : 6780944216 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum value of 3sin- = Scea- v s

Options :
a!

1.

. 3

. O

.

, 34

Question Number : 14 Question Id : 6780944217 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation ~f3sinv+cosy =4 has

Options :

1 Qnly one solution

two solutions

. Infinite solutions

L

no solution

Question Number : 15 Question Id : 6780944218 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The solution of Cas™ {f3x])+Cos™ .1:"—; is
Options :
L
1~
i
s

|| ==

oy
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Question Number : 16 Question Id : 6780944219 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

The value of sin @ +sun @+ 1205 —si1 20— &)1 =

Options :
1. {:I
2111 &7

!

I

—111

Question Number : 17 Question Id : 6780944220 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The principal solution of CosecA =451 13

Options :
v
{4
Tl
i
=
; &
a.
+2 7
4.

Question Number : 18 Question Id : 6780944221 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

L

f |22 1| = | +L then z lies in

Options :
1 The real axis
3 clfcle

The Imaginary axis

L

a parabola

4.
&
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Question Number : 19 Question Id : 6780944222 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-.
-

SETRUNNSESE

|t =40 then & an b oare
- | ] -
11— L1+

-.
1

Options :

K
2.-2

. {.-2
U.-1
4,

Question Number : 20 Question Id : 6780944223 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the line +=2v+ris atangentic +- — 1+~ =2 then the value of ¢ is

Options :

, 2

La

L

3
4
-

Question Number : 21 Question Id : 6780944224 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vertex of the parabola v~ +8x+121+4=0 i3

Options :
=t L
1.
_ 4.1
==l
3.
4.1]
4,

Question Number : 22 Question Id : 6780944225 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The number of tangents to the ellipse ':_ | ':_ =1 through (2,1} 1s

Options :

. O
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Question Number : 23 Question Id : 6780944226 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The tength of the latus rectum of tne nvperbhoia - — =1 s

Options :
| 2
]
3. 4
" 3

Question Number : 24 Question Id : 6780944227 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1

The length of the diameter of the circle v 3y —6Gar—81={is

Options :
.10
5 10
5. 9
, 20

Question Number : 25 Question Id : 6780944228 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the line 21 = sx+ 7 touches the parabola - =6x then k= ___

Options :

|
r_';_.l_l__ ’_.I_Jli.,ll

oy
' | A

' | S

4.
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Question Number : 26 Question Id : 6780944229 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

| gt ‘."{ — E‘
[2111 —
et Y — 2

Options :

]
-

g £
g

Question Number : 27 Question Id : 6780944230 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
s

=l

If Fia)=il=x3% is continuous ai + =10 then 7=

Options :
. ¥
~ E
a
3.
1
4 £

Question Number : 28 Question Id : 6780944231 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

't
If v =s3secd. 1r=5btané then T:
TAY

Options :
3
—seC &

[

1. L1
£y

—oorec &
«

7
— e 7

£

I

7
—CoEeC

0
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Question Number : 29 Question Id : 6780944232 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

W;Ty:wffytheﬂ-ilzz
¥y
Options :
log v
' (14 log vy
ooy
 {I-logxy
—logx
ﬁ i1+ logx)-
i
—1
. {l+lmgﬂﬂ2

Question Number : 30 Question Id : 6780944233 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

if 1=s5m °

Options :

]
i
[+ 37
=
4T
.
2
| — &
4.

Question Number : 31 Question Id : 6780944234 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T
{3

The slope of the normal to the curve y=awecf. v=agtand at f=— IS

Options :
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Question Number : 32 Question Id : 6780944235 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The rate of change of area of 2 circle with respect 1o radius when r=5¢m is

Options :
27 sg.cmisec

107 sg.cmisec

1tk sg.emisec
i i

2l sg.emisec
4,

Question Number : 33 Question Id : 6780944236 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vihich of the following function has maxima or minima?

Options :
1 ¢
- logx
3 _

. T T
.

S11T.Y
4.

Question Number : 34 Question Id : 6780944237 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

if the Increase In the side of a square 1s 2% then the approximate
nercentage Increase in the area of the square Is

Options :

| £

e

4
5
g

4
&
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Question Number : 35 Question Id : 6780944238 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For the function 7ix)= lﬂgf:.*-.'j +— 17 ). which of the fol.owing Is truga’

Options :

foA 7, =D

Lo

Question Number : 36 Question Id : 6780944239 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-1

| cossc” & ot ddd =

Options :
cotT 7

ﬂ_

. %
:.:D.e'ecﬁ' e
3. 'E']
&
—Ccocer
2 X

Question Number : 37 Question Id : 6780944240 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

R :
a Y
: _
s A =
Options :
™
oz —
1 T3
il
log —
T3

L
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>
log —
3. __'!
log i
1
4

Question Number : 38 Question Id : 6780944241 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

&
. %
If o 05 then |_‘ﬂ{1-:
o
Options :

L

Question Number : 39 Question Id : 6780944242 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I

-‘

-1
VIR T Oy =

(i
Options :
|
T .
1.
|
% -
i |
R
3
T 1
g 3
4 B

Question Number : 40 Question Id : 6780944243 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
g

I l s
hm 2} —e? =

H—sir w] i

Options :

| £
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| L+ &

}
i1—e)
3.
(e —1)
4 - ’

Question Number : 41 Question Id : 6780944244 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

- G
| sec” xdv =
]
Options :
o
1A
2N
2
A%
=
3. 3
]
-
4.

Question Number : 42 Question Id : 6780944245 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The area bounded by the curve r=logx. x-axis and the straight line

v—g =(} |8 sguare units
Options :
1. €
e —1]
. U
.
| — &
. |

Question Number : 43 Question Id : 6780944246 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The volume of the solid generated by rotating ohe arch of the curve
1= 53y about the X-axls 15----

Options :

T
1

&
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Question Number : 44 Question Id : 6780944247 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

r=cv—c” |8 the general solution of the differential equation

Options :
-:-l £ ll'LII A i [ -.‘}'l g
1' ‘ — 3| — J+1 =1
L v s
1.
s
77 _
.-:. - I,}
AT
A
- B I::-.
A
3.
“dv T R
— v — [+ =40
T R
4

Question Number : 45 Question Id : 6780944248 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The general solution of the differential eguation i+%:1 IS

T B

Options :
N
1= 34 e-
1.
B
=a+ce -
.
o
A =c+pd
3.

&
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Question Number : 46 Question Id : 6780944249 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential equation corresponding 1o the family of curves v = a0
where g and o are arbitrary constants. Is

Options :
'I: T
Ty ah
il =: .1I_
T (i
.
d v o
T— =\
. A
Ty ; § o
GO t"f’j]' '
Y=
(I LGN
3.
7 .
il K
—_— -'1“_ — f:]
N i1

Question Number : 47 Question Id : 6780944250 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An Integrating factor of the differential equation

-ﬁ

w 3 3‘*. '
T v F Ldy =i+ AT idr =008

Options :

£ *
1

L

L

Question Number : 48 Question Id : 6780944251 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential equation whaose solution is 4y~ — Br~.where A.B are
arbitrary constants are of  ----

Options :

| 1% order and 1 degree

&
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2™ order and1® degree

2™ order and 2™ degree
, 1% order and 2™ degres

Question Number : 49 Question Id : 6780944252 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The general solution of the differential eguation —

Options :

-

Y=o cosf e sy leT

1.
: - Ty
T =0 COSN 4 On 51X )
= T o T & S I S Sy

A=y OO AF Ty 81l 7 I
3 B

F=le 005 2a +on s 2 e
=3 }

~Av =1 |5

Question Number : 50 Question Id : 6780944253 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The particular integral of (D —2)" v =sin 2x is

Options :
Cos
| S
113
] &
— o0 2
E
3 —
— 3111 2
]
4. -
Plyysies
Number ol Questions: 23
Display Number Panel: Yes
Group All Questions: No

~

i
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Question Number : 51 Question Id : 6780944254 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The unit of impulse Is the same as that of

Options :
1 moment of foree

ltnear momertum

L

torce

L

ressuie

Question Number : 52 Question Id : 6780944255 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the force is given by F = at+hi“ where t is the time. The dimensions of a and b

=11=

Options :

1 MLT™, MLT™

MLT ™, MLT™

MLET ™, ML“T

o

MLET ™, MLYT

Question Number : 53 Question Id : 6780944256 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vector parallel to 67 + &) and having a magnitude of 5 1s

Options :

| 47+ 3j
12: + 167

1

16 +8)

L

30+ 4y

Question Number : 54 Question Id : 6780944257 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f |4 x 5| = K(AB) then angle between 4 and B is

Options : "
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1 cos K

cos  (1/K)

L

sin 'K

I

sin*{1/K)

Question Number : 55 Question Id : 6780944258 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cricket ball I1s thrown at a speed of 28 mis In a direction 30" above the

narizontal. The maximum height reached by the all 1s

Options :

lem

_2'Drn
A0m

1

!

J

40 m

Question Number : 56 Question Id : 6780944259 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two bodies are projected at angles of 45" and 60 with the horizontal with

same velocity simultaneously. Ratio of their horizontal ranges Is

Options :

1 Va2

rl_

23

| 1.2
g 2.1

L

Question Number : 57 Question Id : 6780944260 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ball thrown by a boy 15 caugnt 2 seconds later by another at some distance

away on the same level. If the angle of projection is 30Y, the velocity of

&
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19.6 misec
1.

. 9.8 misec

4.9 misec

oy

a7 misec

Question Number : 58 Question Id : 6780944261 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A 200 m wide river flows with a velocity of 5 misec. A man crosses the river In

the shortest time of 25 sec. IT there s no flow and he swims with the same

velocity, the time taken to cross the river is

Options :
B
o S20
T i
1
20 sec
2o sec
.
; 253? =C0

Question Number : 59 Question Id : 6780944262 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body of mass 1 Kg lies on an inclined plane of angle 80" to the horizontal. If

the coefficient of friction 1s 0.4, the frictional force along the Inclined plane Is

Options :

. 1LYE N

0.98 N
049N
, 0.245 N

| 2

e

Question Number : 60 Question Id : 6780944263 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A force of 20 Kg weight Is required to just slide a wooden box weighing 50 Kg over
ice. Then coefficient of static friction between the surfaces in contact is

Options :

0.2

&
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0.4
0.8
0.1

J

Question Number : 61 Question Id : 6780944264 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cyelist comes to a skidding step in 10m. Duirng this process, the force on the
cycle due to the road is 200N and 3 directly opposed to the motion. The work

done by the read on the ¢ycle is

Options :

1000 J
, 20004

-1000d

J

- -20000

Question Number : 62 Question Id : 6780944265 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sphere of mass 4 Kg Is dropped from a certain height. After 9s. Its Kinetic

energy 15 =10 mis”)

Options :

. 5
. 50
5 KJ

J

UK

Question Number : 63 Question Id : 6780944266 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An elevator weighing 200 kg 1s to be lifted up at a constant velocity of 0.20 m/s.

YWhat would be the minimum power of the motor to be used?

Options :

100 W
500 W

&
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. 980W
900 W

q

Question Number : 64 Question Id : 6780944267 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

At t=0, the displacement of a particle In SHM Is half its amplifude. lts nitial

phase s (referring to mean position)

Options :

5L
-

-

153

1

B

L

Question Number : 65 Question Id : 6780944268 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of seconds pendulum is 100 cm. To have a period half of this value,

the length 1s 1o be reduced by

Options :

25 om

]

7o cm

L

50 om

b

100 om

Question Number : 66 Question Id : 6780944269 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Inside a big hall, the reverberation time Is

Options :

1 directly proportional to volume

Inversely proportional to sound absorption

-

&
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hoth directly proportional to voiume

and
inversely proportional to sound absorption

-
.

) depends on iemperature

Question Number : 67 Question Id : 6780944270 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The voice of [lon Is different from that of 2 mosauito becatise

Options :
1 the sounds have different pitch

they are of different size

L

the two volces trave! with differani velacities

L

the sounds have different phases

Question Number : 68 Question Id : 6780944271 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1!
-0

A car s travelling at— m/s and sounds horn of frequency 980 Rz, The

apparent frequency heard by a police chasing the car at LE mis (v IS the velocity

of sound) Is

Options :

1 P90 Rz

900 Hz

100 Hz
;. 1000Hz

L

L

Question Number : 69 Question Id : 6780944272 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWhen ice cube melts and becomes water, the ice-water system undergoes a

change such that

Options :

entropy of the system decreases and internal energy decreases
1.

entropy of the system decreases and internal energy Incrs

"
- L

@collegedunlas

India’s largest Student Review Platform

i



entropy of the system Increases and internal energy increases
3.

entropy of the system increases and internal ehergy decreases
4,

Question Number : 70 Question Id : 6780944273 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A mass of 300 gm falls from a height of 3 mig=5%.5 mfsz}. Assuming that the

whole energy 15 converted inte reat, the amouni of heat produced Is
Options :

1 2 cal

2.7 cal

_-ﬂ,-::a\

I

| 4.2 cal

Question Number : 71 Question Id : 6780944274 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During an adiabatic expansion of 2 moles of a ¢das, the change in internal

energy was found to be equal to 100 J. Tne work done during the process will

be egquat to

Options :

1 FAS] RS,

-100 J
200 J

I

100 J

Question Number : 72 Question Id : 6780944275 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

et

The pressure and density of a diatomic gas { y =;'] change adiabatically from

AL

G.r.‘
(Pdito(P'd"). If — =232 then — is

” F

Options :

1 128

v 32
&
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. 206

.

5, 04

Question Number : 73 Question Id : 6780944276 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Bovyle's law holds good for an ideal gas during

Options :

. Isobaric changes

Isothermal changes

Isochoric cnanges

L

s0topIc chahges

Question Number : 74 Question Id : 6780944277 Display Quecestion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The threshold frequency of metal Is v.. When a light of frequency 4 1. Is

" m
2

incident on metal then the K E.. Oof emitted electrons s

Options :

2 U-h
1

3 :'E. h
4 v.h

L

1

Question Number : 75 Question Id : 6780944278 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Superconductors are materials

Options :

y dielectric

paramagnetic

|

ferromagnetic

o

dlamagnetic

Chemustey a
collegedunia:
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Number ol Questions: 23
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 6780944279 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Pauli exclusion principle 1s cencerned ~ith

Options :

. Energy of orbital.

opin of electron.

Energy of electron

I

Angular momentum of electran

Question Number : 77 Question Id : 6780944280 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Accarding to Bohr s mode| of hydrogen atom, the following is guantized

Options :

1 Linear momentum

Linear velocity

Angular momentun

I

Anguiar velocity

Question Number : 78 Question Id : 6780944281 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many 'd — orbitals have two perpendicular nodal planes

Options :

- Two

Thres

-

Four

L

- |ye

Question Number : 79 Question Id : 6780944282 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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N sodium chloride crystal. each Na™  ion is surrounded [y

Options :
Twwn C ons

Faour O lons

| J

Sk Ol 1ons

L

Eight ClI Ions

Question Number : 80 Question Id : 6780944283 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vinich among the following meleclle contains a M- 2ona

Options :

¥

L

A

Question Number : 81 Question Id : 6780944284 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vWhich among the following 1s Insoluble in water?

Options :
Alcohol

Ammonia

Banzens

I

Acatonea

Question Number : 82 Question Id : 6780944285 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The normality of 2.3 M H-50, solution is

Options :
1 U.46N
.23 N

.

1 2.3 N
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, 4.8N

Question Number : 83 Question Id : 6780944286 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3 grams of substance of nolecular weight 40 1s dissolved In 200 g of 'vater, Then the
molality of the solution 1s

Options :
0.4

1.

. 0.8

y 3.2

, 08

Question Number : 84 Question Id : 6780944287 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The pH wvalue of 0.05M Ba{OH)- solution is

Options :

10
.12

13

11

L

Question Number : 85 Question Id : 6780944288 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following moleculs 1s not a Lewis Base”

Options :

H-0

[

1
BF-

L

INH-

o

L

O

Question Number : 86 Question Id : 6780944289 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During the electrolysis of birine, 710 g of Cl. was liberated at ancde. The weight of NaOH

formed
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- 800¢

400 g

L

-~ dlg

e

, 4lg

Question Number : 87 Question Id : 6780944290 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i the Danniel cell, which &lectracls acts as aradsa?

Options :
U

1.

, Hd
ik
Pt

4

Question Number : 88 Question Id : 6780944291 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The molar conductance of HZ| s more than that of NaCl hecause

Options :
. NaCl is more polar than KCi

- NaCl 1g 1onic while HCl Is covalent

lonic mobility of H™ is more than that of Na™

L

H™ get hydrated.

Question Number : 89 Question Id : 6780944292 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The units for electrochemical equivalent are

Options :
Jrdimsz

drams ampele

LHl

- Coulomi

e

Grams per cotlomb

Question Number : 90 Question Id : 6780944293 Display Question Number : Yes Single Line Ohmection (Ontfion * No (Intion

Orientation : Vertical
]
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Zeolte softening process removes
Options :

Only permanent hardness of atar
1.

Only temporary hardness of water

I

Both temporary and permanent hardness of water

-.

L

- The dissolved gases in permanent hard ~ater.

Question Number : 91 Question Id : 6780944294 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The permanent hardness of water is caused by the presence of
Options :
Bicarbonates of Ca and Mg

. Carbonates of Na and K

Chlorides and Sulphates of Ca and Vg.

L

Fhosphates of Na and K

Question Number : 92 Question Id : 6780944295 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The zecondary treatiment of water uses to consume wastes in water.

Options :

Fitration

Sedimerdation

Chemicals

Lo

Microorganisms

Question Number : 93 Question Id : 6780944296 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Difficult to monitor and very dangearous form of corrosion s

Options :
1 salvanic

Fitting

]
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Lrevice

s
.

Siress
4

Question Number : 94 Question Id : 6780944297 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vWhen Pt and Co are electrically connected. «which one gets corroded?

Options :

e
Pt

1.

L.

NCre

, both

N

Question Number : 95 Question Id : 6780944298 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vWhat rubber was invented when Dr. Joseph C. Patrick iried {o make antifreeze’

Options :

1 Methyl rubber

Chloroprens

L

Bruna N

I

| Thiokaol

Question Number : 96 Question Id : 6780944299 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The first plastic ever synthesized was called

Options :

| Bakelte

Nylon

L

Dacron

L

" Lellulose

Question Number : 97 Question Id : 6780944300 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s a brand of polyester textile fiber that Is wrinkie resistant and streng

&
@collegedunlas
India’s largest Student Review Platform

i

Options :



ellulos=

!

Dacran

Eakeliie

L

Nyilon

Question Number : 98 Question Id : 6780944301 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWater gas 1s a mixturs of

Options :

. H-.+ CO

=f

Ng+':{:}

HE =+ ':"-:}E

I

H-+ CHy

Question Number : 99 Question Id : 6780944302 Display Question Number : Yes Single Linc Qucestion Option : No Option
Orientation : Vertical

Vithich of the following 12 not a greennouse gas’y

Options :

IGD

L CO.

—

wWater vapour

L

H4

Question Number : 100 Question Id : 6780944303 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Burning of fossil fusls causzes
Options :

Global warming
1.

LUzone depletion

~ Acid rain

L

Eutrophication
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Number ol Questions: 100
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 6780944304 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

The total numper of polymorphic form 2f TITANIA s

Options :

1. 4
3

L

L

Question Number : 102 Question Id : 6780944305 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

WMolecular formula of TALC Is

Options :

~ MgO.H,0

MgO.Si0, HzO

- 3MG0.5105.H20
3MgO.45102.H20

N

Question Number : 103 Question Id : 6780944306 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Muscovite (s Known as

Options :

. Vhite Mica
| Elack Wica

. Red Mica

|

J

Erown WMica

Question Number : 104 Question Id : 6780944307 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Non-Clay plastic material Is
Options :

. Steat|te

&
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L Zireon

Coruncum

L

., vermiculite

Question Number : 105 Question Id : 6780944308 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is used as a bingder

Options :
| Dextrin

| olex

-

- otarch
, Allthree

Question Number : 106 Question Id : 6780944309 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vihich of the following Is not a member of beach sand mineralzs?
Options :
lgelels

SiHimanite

-
|

Andalusite

L

Eutile

Question Number : 107 Question Id : 6780944310 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The material used In sand blasting as a substitute of Silica to reduce
dangers of Silicosis s

Options :
| Emery

- Corundum

—

(zarnet

2
.

Baoron Nitride

Question Number : 108 Question Id : 6780944311 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Fullers earth Is

Options :

&
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1 Kaotinite

Montmaorrilonite

- Mieca
| Diatomaceous earth

L

Question Number : 109 Question Id : 6780944312 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following clay I1s used as drillng fluict for netroleum:

Options :
| KRaotinite

- |liite
. Mantmaorrilonite

Veriniculite

Question Number : 110 Question Id : 6780944313 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The chemical formula of Flourspar Is

Options :

[ ':EFE

.EEFE
MgF o
.EEFE

I

I

Question Number : 111 Question Id : 6780944314 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vonazite sand available in India. mainly consist of

Options :

) Chabazite

ZIreonia

]

stlimanite

J

. Vonticlllite

Question Number : 112 Question Id : 6780944315 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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YWhat 1s Oligoclase 7

Options :



) Lime-50da Feldspar

Lime-Potash Feldspar

L

Lime Feldspar

e

~Soda Feldspar

Question Number : 113 Question Id : 6780944316 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fumed Silica Is widely used in making

Options :
; Glass

. Castable Refractories

Ceramic Tijes

J

Cement

Question Number : 114 Question Id : 6780944317 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Hardness of Pyrophilite in hMon's scale of hardness is

Options :

. 3-6

» 8-9
12

- 4-5

e
-

Question Number : 115 Question Id : 6780944318 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWallostonite 1s mainly used In

Options :

. Wall Tiies
. Insulation Bricks

—

Cement

=
1

- Glass maxing

Question Number : 116 Question Id : 6780944319 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Wall Tile 1s a class of

Options :

1 Earthen ware
@collegedunias
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- Stone ware

L

Hard FPorcelain

L

Soft Porcelain

Question Number : 117 Question Id : 6780944320 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Roller Hearth Kiln 1s used for firlng
Options :
1 Ceramic Tlles

. Cement Clinker

High Alumina Bricks

I

Sanitary ware

Question Number : 118 Question Id : 6780944321 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Uental Porcelain contains
Options :

1 HIgn percentage of Feldspar

Lows percentage of Feldspar

High Percentage of Cluartz

I

Low Percentage of Quartz

Question Number : 119 Question Id : 6780944322 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The filter press Is mainly used in the making of

Options :

| Cetramic Insulators

Cement

!

| (5lass

e

| Refractory

Question Number : 120 Question Id : 6780944323 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich of the foliowing Is not used as a raw material in engobe?

Options :
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) China Clay

. Quartz
Rutile

L

Feldspar

Question Number : 121 Question Id : 6780944324 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

WWhich of the following 1s the Dunting of white ware bodies?

Options :

Ceformation after firing
1.

Cracking due to thermatly induced siress

|

~Rolling out of glaze after firing

L

None of these

Question Number : 122 Question Id : 6780944325 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich of the following 15 a glaze cefect:

Options :

) Crack
| punting

I

Glaze specks

o

Black core

Question Number : 123 Question Id : 6780944326 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For coloured glazes, wnicn of the following does not affect the color:

Options :

1 Colouring Agent

Kiln atmospnere

- Iring temperature

oy

Humidity

Question Number : 124 Question Id : 6780944327 Display Question Number : Yes Single Line

Orientation : Vertical
]
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The consistometer 1s Uused 1o determins

Options :

1 Specific gravity of slip
. VIscosity of slip

~Flow of slip per minute

L

Density of slip

Question Number : 125 Question Id : 6780944328 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YW hich of the following oxide 1s a2 musi for Slue stain:

Options :

NIC

1
Hal®;

al®

La

L

, Co0

Question Number : 126 Question Id : 6780944329 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vWhich of the following Is not an opacifier?
Options :

| AS.05
| SheOs
Fial®

]

Lt

L

Al

Question Number : 127 Question Id : 6780944330 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich of the foliowing Is not used In photosensitive glasses:

Options :

Gl
5

Ad
. AU

L a

L

&
@collegedunlas
India’s largest Student Review Platform

i



Question Number : 128 Question Id : 6780944331 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Yi'hat 1s the operating temperature of Spray dryer for ceramie precursor
powder drying'’s
Options :

- 700-900 e
450-850°C

200-300 “C

I

900-1100 “C

Question Number : 129 Question Id : 6780944332 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The kiin furniture for firing AT FPorcelain Insulators s macie of

Options :

. Mulhte
Alumina-sic
. Clay bonded SIC

Cordlerite

Question Number : 130 Question Id : 6780944333 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During burning white colour of the body suggests a temperature of

Options :

- 500-600 °C
. 700-800°C

. 900-1000 °C
1300-1400 ’C

Question Number : 131 Question Id : 6780944334 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Vitreous China s 4
Options :

1 Moderately vitrified boay

-

Fulhy vitrified body

&
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~ Porous hoay

. Fully fused bady

Question Number : 132 Question Id : 6780944335 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fin holaes are caused due to

Options :
| Excessive Heating

| Forous Body

1

Excessive Cooling

J

- Incorrect firing cycle

Question Number : 133 Question Id : 6780944336 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sllica brick contains
Options :

- 82-90 %510,
20-22 %3510,

]

L

92-98 "SI0

J

30-85 %510

Question Number : 134 Question Id : 6780944337 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A fire brick contains Al.O-

Options :
Less than 60%

Less than 405

1

L J

Less than 50%

L

| Less than 30%

Question Number : 135 Question Id : 6780944338 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The theoretical density of Corundum Is

Options :
1 4 Gmsice

&
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3.0 gmsice

| A

5.0 Gms lee

J

2.0 gmsice

Question Number : 136 Question Id : 6780944339 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ollica bricks show good thermai sneck rasistance apave

Options :

800 °C
200 °C

L

400 e

J

Q00 YC

Question Number : 137 Question Id : 6780944340 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The nature of Chromite refractory Is

Options :
NelLitral

AcidlC

]

|

Basic

J

Super

Question Number : 138 Question Id : 6780944341 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The melting point of Mullite Is

Options :

- 1723°¢C
2050 °C

2300 YC

L

1810°C

Question Number : 139 Question Id : 6780944342 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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A good guality Mullite refractory shall contain Muliite percent of

Options :

[ O
. &l
G{

48

I

Question Number : 140 Question Id : 6780944343 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Carpon Monoxide disintegraticn test 1z 12 important for refractories used In

Options :

1 oteel Making Converter lining

| Ladle lIhing

| 2

Eiast Furnace top lining

L

Soaking pit

Question Number : 141 Question 1d : 6780944344 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Maximum temperature attainabie for continuous heating for 510 heating
slement Is

Options :

1450 °C
1600°C
1200°C
17007C

L

J

Question Number : 142 Question Id : 6780944345 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The grain sizes of refractory mortars generally do not exceed

Options :

1 2T

i

L A

G5 mm

4, omm
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Question Number : 143 Question Id : 6780944346 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The breaking/cracking of refractory kiick In service, 1o suich an extent that
pleces are separated leaving the new surface of the brick exposed. This

definition pertains to

Options :

1 Erosion

Alrasion

N Corrosion

Spalling

Question Number : 144 Question Id : 6780944347 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vWhich type of refractory 1s used as refractory lining for coke oven
Options :

1 Fire Clay Bricks{25% Aluminal

Zirconia Bricks

L

Silica Bricks

Lo

| Carbon blocks

Question Number : 145 Question Id : 6780944348 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

To make Silica prick. abhout 2% of this substance Is added as a bhond.
Identify:

Options :
[ Lime

- Titania

Zlireonla

e

, Magnesia

Question Number : 146 Question Id : 6780944349 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vifhieh of the following contamns highest Alumina’?

Options :
1 Sihimanite

&
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Kyanite

1 2

. Andalusite

| MUl te

J

Question Number : 147 Question Id : 6780944350 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Blast furnace hearth should preferabiy made of

Options :

1. Fire Clay (40% Alumina ) bricks

| —arbon Bricks

| Zircon Bricks

I

Vermiculite pricks

Question Number : 148 Question Id : 6780944351 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vinich Oxide promotes the growth of Periclase during the burning of
Magnesite?

Options :

. BaUs
. FEEGH
S04

|

H

Cal

Question Number : 149 Question Id : 6780944352 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Dead burning of Magnesite is carried out at a temperature "C of

Options :

- 1200-1350
a00-930

- 1600-1750

J

- 1300-1450

Question Number : 150 Question Id : 6780944353 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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Options :
1 Blast furnace

slass tank furnace

| Annealing furnace

b

Reheating furnace

Question Number : 151 Question Id : 6780944354 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YiWhich of the foliowing Is not a comimen type aof Dewvitrification stone?

Options :

1 Tridymite

Luartz

1 2

- Cristobaliite

J

Vi allastonite

Question Number : 152 Question Id : 6780944355 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For repalring damaged furnace walls by Ceramic welding, which of the
following powder 1s normaltly used along with refractory powders?

Options :
1 _Charcoal

AlUminium

Iron

oy

Silicon

Question Number : 153 Question Id : 6780944356 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWhat 1s the average temperature range maintained in a Glass Tank
Furnace in “C

Options :

 1500-1550
1400-1450

- 1300-1330

4. 1600-1650
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Question Number : 154 Question Id : 6780944357 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The E-GGlass. S-Glass ang Z-(5lass are

Options :

Fibre Glass

]

Qptical Glass

—

- Sheet Glass

-
.

Toughened Glass

Question Number : 155 Question Id : 6780944358 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

WWhich of the following 1s not a nabwork former?

Options :

B2
GE"::'Q

1

L 2

PO
ZTGE

e

Question Number : 156 Question Id : 6780944359 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Yihich of the foliowing I1s not a Nucleating Agent?

Options :

e
ZI’DE

2

L

n E!’z':}:?:

Question Number : 157 Question Id : 6780944360 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

~hatcogenide Glasses are used as

Options :

1 LR.transmitting Glass

~ Photo Chromatic Glass

—

: Laser Glass

&
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. Radiation Shield Glass

Question Number : 158 Question Id : 6780944361 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich of the following element is not a Glass former?

Options :

Lo
Se
Te

L J

Lo

As

Question Number : 159 Question Id : 6780944362 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following Oxide is not a Glass former?

Options :

B0

Sile>
GEGE

L

J

| Cr20s

Question Number : 160 Question Id : 6780944363 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Virnich of the foliowing 1s not used as a Refining agent during Glass
melting?

Options :

1 Jﬂth'::'g
- ob0s
NahNO-

e

T102

Question Number : 161 Question 1d : 6780944364 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Yirhich of the following I1s used to remove green tint in molten Glass?

Options :

1 Manganese Dioxide

~ Chromic Oxide
| @collegedunias
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- Ferric Oxige

-
.

: Cobalt Oxide

Question Number : 162 Question Id : 6780944365 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tne Dog House Is found In

Options :

: (algass Tank Furnace

Tunnel Kiln

|

Converter Furnace

| Roller Heartn Kiln

J

Question Number : 163 Question Id : 6780944366 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following Iz used to Impart Amber colour in Glass?
Options :

Excess of Pyrolusite and ferric Cxide

Carbonaceous material with Sulphur or [ron Sulfide

L

Flourspar with Feldspar

o

Ferric Oxide with a reducing agent

Question Number : 164 Question Id : 6780944367 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Jena Glass contains

Options :
1 Bervilium and Magnesium Oxide

Zine and Barium Oxige

- Lead and Bismuth Oxide

L

| MNone of the above

Question Number : 165 Question Id : 6780944368 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

oignal Traffic Lignts make use of Red coloured Glass containing

Options :

Selenium
1.
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Lapper

Chromium

, obalt

.

Question Number : 166 Question Id : 6780944369 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VYWhich ong 1s not a Zachariasen s rule for glass formation of oxide RxOy:

Options :

1 An Oxygen atom 1s not linked o miore than 250 atoms

The number of Oxygen atoms surround:ng a Central atom must
he small{3 or 4}

L

The oxygen Polynedra share corner with eacn other, not edges
or faces

L

At [east four corners of @ach oxygen polyhedron must be

shared
4

Question Number : 167 Question 1d : 6780944370 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vilhich of the following phase occurs In maximum amount in Fortland
cement

Options :

CaS
Co5
oA
C4AF

1

L.t

J

Question Number : 168 Question Id : 6780944371 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Cao. Coo. CsA and C4AF are major compounds of Porttand cement. The
rate of hyaration of C4AF I8

Options :

) (Greater than C-A

. slower than CsA
Equal to that of CaA

I

2Er0
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Question Number : 169 Question Id : 6780944372 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Genelenite s

Options :

Cas

1

BEIS
CoAS

=]

. CiAF

!

L

Question Number : 170 Question Id : 6780944373 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vifhich of the following Is not a Feozzolona

Options :
. Calcined clay

Rice Husk

-

=y Ash

e

Zerconia powder

Question Number : 171 Question Id : 6780944374 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich of the following additive is used to control the setting of Portiand
cement”

Options :

1 Lime

Gypsum

L

Sodium Chioride

L

| ollca

Question Number : 172 Question Id : 6780944375 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The soundness of cement s measured by

Options :

| Vicat s apparatus

Blain s apparatus

L J
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~ Autoclave expansion

.

, None of these

Question Number : 173 Question Id : 6780944376 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Yi'hat 1s the burning temperature of Portland cement”

Options :

- 1400-1500 Ly

1200-1300 'C

L

1600-1700 °C

I

1100-1200 "C

Question Number : 174 Question Id : 6780944377 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich phase In Portlang cement gives ultimate strength?

Options :

a5

Csd

o
CaAF

L

I

Question Number : 175 Question 1d : 6780944378 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Yihich of the following Oxide Is responsible for the soundness of the
cement?

Options :

) Egle;

Mg
NI
Be

L

I

Question Number : 176 Question Id : 6780944379 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
@collegedunlas
India’s largest Student Review Platform

The Fullerene can be Used as



Options :

1 semiconductor

Blo-Ceramics

cUper conductor

L

Oplical ceramics

Question Number : 177 Question Id : 6780944380 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fulleran 1s avallable in Andhra Fradaslhy at

Options :

1 Gaucur

Mangmpeta

L

CheemakLrt

L

Jaggayyapeta

Question Number : 178 Question Id : 6780944381 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich of the foliowing natural mineral is used as a dielectric?
Options :
1 Vermiculite

~ Bentonite

Halloysite

J

. Mica

Question Number : 179 Question Id : 6780944382 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich of the following is not a low 1088 ceramic?

Options :
| ofeatite

Forsterite

1 2

. Vifallastonite

4 Rutiie
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Question Number : 180 Question Id : 6780944383 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich of the following materiais 1s Known as oeramic steesl?

Options :

ZI'DE

]

- A0
| MgO
| G0

I

Question Number : 181 Question Id : 6780944384 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich of the following Is a permaneant magnet?
Options :

1 Zinc Ferrite

Barium Ferrte

| Nickel Ferrte

N

Manganese ferrite

Question Number : 182 Question Id : 6780944385 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich of the foliowing materials 1s not a Plezoelectric?

Options :

uartz
1

Rochelle salt

1 J

KLt e

J

Earium titanats

Question Number : 183 Question Id : 6780944386 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of these ceramic is used In sparkplugs of automaobiles?

Options :
1 Alumina

_ Silicon carbide

— .

Zlirconia

.
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. Vagnesia

Question Number : 184 Question 1d : 6780944387 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

The thread guides are made of

Options :

| ZI":JQ
SiC
(ilel®,

]

1

I

Al201

Question Number : 185 Question Id : 6780944388 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followwing ceramic 1z not Lis=4 3z an ahrasiva’

Options :
, Boron Nitride

_ Emery

BEoron carbide

Lo

Siicon carpide

Question Number : 186 Question Id : 6780944389 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fyrometric cones, also known as Segar cones are used to measure

Options :
1 A range of temperature

Exact temperature

Rate of temperature raise

L

| None of these

Question Number : 187 Question 1d : 6780944390 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The gas produced as a Bye product of coke oven battery consist of

Options :

L0

~ Methane

—
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Nitrogen

L3

4,

Question Number : 188 Question Id : 6780944391 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhat metal combinations are used 1o measure high temperatures using
thermocouples”

Options :

Chromeal-Alumel
1

lron-Constantan

Copper-Constantan

I

Ptatinum-Ft Rhodium

Question Number : 189 Question Id : 6780944392 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Temperature measurement device which uses Non-Contact method

Options :

1 Thermometer

FPt-PtRnh thermo couple

L

, Alconol Thermometer

Radiation Pyrometer

Question Number : 190 Question Id : 6780944393 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The fast firing technology used to fire Ceramiic tiles uses the fuel

Options :

1 (=as

- Coal
Liguid fuel

1 2

IJ

MNone of these

Question Number : 191 Question Id : 6780944394 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich one of the following materials iIs used as an opacifier in Enamels?

Options :
@collegedunias
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oynthetic Cryatite
1

- Borax

|

Jrthoclase

L

Fegmatite

Question Number : 192 Question Id : 6780944395 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The discharge of molten ename| fram the furrzace with the formation of
smail pieces 1s known as granuiation and grantlated enamel is called

Options :

| =it
Fett|e

1

L

(L

e

Fugacity

Question Number : 193 Question Id : 6780944396 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ground coat enamel for steel 1Is melted at the temperature range of

Options :

. 500-550 "C
- 700-750 °C
- 900-950°C
, 12001250 °C

|

L

Question Number : 194 Question Id : 6780944397 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vithich of the following Oxide when present in ground coat improves the
acdhesion of the enamel coating”?

Options :

' 210
Sﬂ‘:}g
sl

!

L

| FEEC‘H
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Question Number : 195 Question Id : 6780944398 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The aclid resistance of ename| ware |s testad with

Options :
1 Hydrochloric acid

, Citric acid

sulphuric acid

L

Tartaric gcld

Question Number : 196 Question Id : 6780944399 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich of the following I1s not an opacifier tn Porceiain enamel?

Options :

| Mgk
CHFE

1 J

NaF
Sh0x

e

Question Number : 197 Question Id : 6780944400 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The copper head defect s observed In

Options :

1 over coat sname|

Garound Coat enamel

| A

Ease metal

Lo

| None of these

Question Number : 198 Question Id : 6780944401 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The enameling Iron Is

Options :

| Lo carbon steel

Cold rolled steel

I

Both Low carbon steel & Cold rolled steel

o
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MNone
4

Question Number : 199 Question 1d : 6780944402 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Feldspar s used extensively in Enamels as

Options :

1 An opacifier

A colorant

& raw material

L

an agent which increases refractive index

Question Number : 200 Question Id : 6780944403 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The adhesion of fired enamel to meta: base !s tested By

Options :
1 Scratch Test

Tens|le test

Impact test

I

Compression test
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